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QUESTION 1

What are two examples of RE exception traffic? (Choose two.)

A. BGP updates that travel through the local router and are destined for a remote router.

B. OSPF hello packets that are sent from a remote router and are destined for the local router.
C. Telnet traffic that is sent from a remote host and is destined for the local router.

D. Telnet traffic that travels through the local router and is destined for a remote end host.

Correct Answer: BC

QUESTION 2

What would you use as a network tool to open a secure terminal connection from a device running Junos OS to another
device?

A. SSH

B. HTTPS
C. RDP
D. telnet

Correct Answer: A

QUESTION 3

You notice that the terms in your firewall filter are not in the correct order.
What would solve this problem?

A. Use the next term action to force an evaluation of the next term.

B. Use the insert command to reorder the terms within the filter.

C. Use the count parameter to ensure that the terms are evaluated correctly.
D. Use the reject action to change the action of the filter.

Correct Answer: B

QUESTION 4

In your configuration, an interface contains multiple IP addresses belonging to the same subnet. You want to identify the
IP address to use for packets sent to hosts on the same subnet.
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Which parameter would you use to accomplish this task?
A. patch

B. primary

C. preferred

D. relative

Correct Answer: C

QUESTION 5

When a system process encounters an error, how does the Junos OS protect other processes from being impacted?
A. Each process operates in its own shared memory space.

B. The Junos OS executes only one process at a time.

C. Each routing protocol runs as an individual process.

D. The Junos OS executes multiple processes simultaneously.

Correct Answer: C

Junos OS functionality is compartmentalized into multiple software processes.Each process handles a portion of the
device\\'s functionality. Each process runs in its own protected memory space, ensuring that one process cannot directly
interfere with another. When a single process fails, the entire system does not necessarily fail. This modularity also
ensures that new features can be added with less likelihood of breaking current functionality.The Junos OS is the
trusted, secure network operating system powering the high-performance network infrastructure offered by Juniper
Networks. The Junos kernel is based on the FreeBSD UNIX operating system, which is an opensourcesoftware

system.

http://juniper-basic.blogspot.com/2017/02/juniper-basic.html

JNO-103 VCE Dumps JNO0-103 Exam Questions JNO-103 Braindumps

JNO-103 VCE Dumps | JNO-103 Exam Questions | INO-103 Braindumps 3/3


https://www.geekcert.com/jn0-103.html
https://www.geekcert.com/jn0-103.html
https://www.geekcert.com/jn0-103.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-103.html
https://www.geekcert.com/jn0-103.html
https://www.geekcert.com/jn0-103.html

